Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills	-A	01 -	_	Date Regi	- site	bil	ls	16/6	12.
register Company Name:				Site:				- Maria de la companya del la companya de la compan	
Name of Contractor						GMR			
Nature of work		amerh Chandra nayale							
Work done	From D					Date	7		
Sl. Villa/Flat/block no			Rate	0	Units		Amou	nt	Contractors
No.	. Q.,	y•	Rate		Ome		7111104		bill no
1. Tile fixing	1								
2. marke of R									
3. 30M.									
4. SUBA 1660(65	8-2) 11	28	13	<u> </u>	SA	-	1A,6	64	
5. Sussing 21'	1. 3	H8	13	3	22		4,5	24	
6. SURA1660 CE	87) L	188	4		St		45	12	
7. Slowning 21.	1. 8	1. 3 348		Str		1392			
8. 200 St Prog t	oile x	100	16 eft		H	6,400			
9. 9354 por fl	ent c	13	14		SF		130)	
11. To	tal:					\exists	7217	194	
Bill required	YES YNO.		GST bill requ				□ YES	9NO.	
	Required			Measurement &		}			
	□ Not required			PO/WO date:		□ Not enclosed		closed	
Remarks:									
	,								
Approved by Project Mana	ager	Approv	ved by	Desig	n Tear	m	Appr	oved by	M.D.
Date:	2	Date:					Date:		¢.
Sign:		Sign:					Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Company Name: MRMLLP Mamprase	ESTIMATE SHEET	EET						
Cott	Company Name:	MRMLLP				Appr	_	Ramprasad
Description: 4' X 2' flooring tiles and bathroom tiles laying in 8-304 ared By Srinivas.N 14,06.21 14,06.21 14,06.21 128.00 Sft 13,00 Shirting 21% 348.00 Ft 4,00 Shirting 21%	Project:	Gulmohar Resid	dency				Sign:	
Sector Name: Ramesh Chandra Nayak Pate Nayak Pat	Work Description:	4' X 2' flooring tiles	and bathroom tiles laying i	n B-304				
S No.	Contractor Name:	Ramesh Chandra N	ayak					
Ita,06.21 Item Description Quantity Units Rate A 1 Vetrified flooring SBUA 1660st (68%) 1128.00 Stt 13.00 2 Skirting 21% 348.00 rt 13.00 SBUA 1660st (68%) 1128.00 Stt 4.00 Skirting 21% 348.00 rt 4.00 3 (700sft per toilet) 400 Stt 16.00 4 Ceramic (93sft per flat) 93 Stt 14.00 4 Ceramic 14.00 14.00 14.00	Prepared By	Srinivas.N						
	Date:	14.06.21						
Item Head Item Description Quantity Units Rate								
vetrified flooring SBUA 1660sft (68%) 1128.00 Sft 13.00 Skirting 21% 348.00 rft 13.00 SBUA 1660sft (68%) 1128.00 sft 4.00 Skirting 21% 348.00 rft 4.00 (200sft per flat) 400 sft 16.00 Ceramic (93sft per flat) 93 sft 14.00 14.00 14.00 14.00 14.00 14.00	S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
Skirting 21% 348.00 rt 13.00	1	vetrified flooring	SBUA 1660sft (68%)	1128.00	Sft	13.00	14,664	
SBUA 1660sft (68%) 1128.00 Sft 4.00 Skirting 21% 348.00 rft 4.00 (200sft per toilet) 400 Sft 16.00 Ceramic (93sft per flat) 93 Sft 14.00 1	2		Skirting 21%	348.00	₽	13.00	4,524	
Skirting 21%			SBUA 1660sft (68%)	1128.00	Sft	4.00	4,512	
(200sft per toilet) 400 Sft 16.00 Ceramic (93sft per flat) 93 Sft 14.00			Skirting 21%	348.00	Tŧ	4.00	1,392	
Ceramic (93sft per flat) 93 Sft 14,00	ယ		(200sft per toilet)	400	Sft	16.00	6,400	
32,794	4	Ceramic	(93sft per flat)	93	Sft	14.00	1,302	
							32,794	

MEASUREMENT SHEET								
Company Name:	MRMLLP					Approved by:	Ramprasad	
Project:	Gulmohar Residency					Sign:	•	
Work Description:	4' X 2' flooring tiles and bathroom tiles laying in B-304	room tiles laying in B-304						
Contractor Name:	Ramesh Chandra Nayak							
Prepared By	Srinivas.N							
Date:	14.06.21							
			A	В	С	D	E= AxBxCxD	Ή
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
	B-304	vetrified flooring						sft
		SBUA 1660sft (68%)	1128.00	1.00	1.00	1.00	1128	sft
		Skirting 21%	348.00	1.00				Rft
		(200sft per toilet)	200.00	1.00				sft
	Kitchen & utility	(93sft per flat)	93.00	1.00				sft
				-				

Bill for Equipment Allowance

Ramesh Chandra, Orrisa

Date: 12.06.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:
Type of Work:

Mallapur Tiles laying

Towards:

Allowance for Equipment

		Description	Amount	
	S No.	Description		
	1	Brief description of work done: Tiles laying work in B-	D 12117/	
	1.	304 flats at B-block . Total Amount = 32,794/- Work	Rs. 13117 /-	
		done from date 10.05.21 to date 12.06.21		
- 1		HOME HOM date 10.05.21 to date		

Amount in words: Thirteen Thousand One Hundred Seventeen Rupees Only.

Sign: Ramelh

Allowance for Consumables

Ramesh Chandra, Orissa.

Date: 12.06.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles work

Towards:

Allowance for Consumables.

	Description	Amount	
S No.	Description Description Description Description		
1.	Brief description of work done: Tiles laying work in B-	Rs. 13,117 /-	ı
	304 flats at B-block . Total Amount = 32,794/- Work		
	done from date 10.05.21 to date 01.06.21		

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign: Ramech

Bill for Labour Charges

RameshChandra, Orrisa.

Date: 12.06.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles Laying

Towards:

Labour Charges

	Designation	Amount
S No.	Description B-	
1.	Brief description of work done: Tiles laying work in B-	Rs. 6558 /-
	304 flats at B-block. Total Amount = 32, 194/- WOLK	103. 0000
	done from date 10.05.21 to date 12.06.21	

Amount in words: Six Thousand Five Hundred Fifty Eight Rupees Only.

Sign: